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F'lVE full questions. choosing one full queslion fronr each motlule.
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a" Define cyber security'l Explain the motiv*s clf cyber attack.
b lJse extended Etrclidean algonrhnr to find inrerse of l2 moclulo 79q
c Applf'Cltrneese reminder theorem to find square roots of 3 rnodulo l4J and

?x,
b.

5a
b
c

roots of -.1 rnodulo 14,1.

OR
Explain DES constructidn in detail.
Explain confilsiori.**d Dilfusion with example. '

I

Modrrle-2
..rr: 

-: -:trir::.

Explarn R,SA-operation in detarl.
Explain Public Key Cryptography Standards (PKCS)
Iixplain Deffie Helman key exchange.

. : "':., OR ,1'r"'.r. ;ii
-l a. lf rhe RSA public kev is(31.3-599) u,hat is the correspondingpriiare ke),

b. Explain Basrc properties of hash lunction.
c. Explarn Birthclay attack.

Explain.Nqelhanr Schroederprotocol version * I.,''',,,* i
E*pBy, K*rberos with ir:e1s,ae,g $Bquer:ce.

1:.. 
....t",,.,... 

),.,,. OR
a. [,xplarn password baseil'oni way authenrication
b. Explain Needham - Scluoeder protocol rersion - 2

c.. Explain SSL ltandshake protocol.

tt),:.t',..,r.. . t",',,,',}{{}dulg-4

Explain authenticarion and rnaster session key exchange i.rr 802.1 I i?

Exp lain rvorm features.
Explain Function of Firewali.

.jii.

Explarn identjty based encryption.

'':ll',1:irliliiiiilrii" 
OR

& a. Explair S*3.1 Ii four *ay h*ndsiranke with neat diagram"
b. List and explain*raatice issues of Firewall.
c, Expiain DDO$:attack prevention and delection.

I r:f 2
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Discuss fbur
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Time: 3 hrs.

c.

2a.
b.

lYote: Answer sny FIVE full questions, choosing one.full question from esclt module.

Module-1
What is Computer Graphics? Explain the applications olcomputer graphics. (05 llarks)
Illustrate the sequence of coordinate transformations frorn modeling coordinates to

dev ice-coo rd i nat es. (05 NIarks)

Explain DDA line drawing algorithm with procedure. (06 Marks)

OR
Explain the basic operation of CRT with its primary components wrth neat diagrarr-r.

(08 NIarks)

Digitize the line by using Bresenham's line drawing algorithn, with end-points (20. 10) and

(30, lB), having slope 0.8. (0tl Nlarks)

Module-2
How do you classify the polygon? Explain OpenGL polygon fillprimitives. (07 NIarks)

Explain translation, scaling. rotation in 2D homogeneous coordinate system u'ith rnatrrx
, Marks)representat ions. (0e

OR
Explain general scan-line polygon-fill algorithm in detail. (I0 Marks)
What are thc cntities required to per[orm a rotatior)? Shor.r'that two succcssirc rotltiotts alc
additive.

CASCS.: 
, , ,

Describe phong lighting model.

OR
. a. Clip the potygon given in Fig.Q.6(a), using Suterland Hodgman polygon clipping aigorithm

with neat sketches. (06 Marks)



b. Explain the different types of light sources supported by OpenGL.
c. Explain the RGB and CMY color models.

display list.

OR

!lodule-4
a. Explain the perspective projections with reference point and vanishing point with neat

diagrams. (10 Nlarks)

b. Discuss depth-buffer method with algorithm. (06 Marks)

OR
a. Demonstrate horv transformation liom world coordinates to viewing coordinates with matrix

representat ion. 106 Marks)

b. E,xplain orthogonal projections in detail. (10 Marks)

Module-5
a. Explain the major characteristics that describe the logical behaviour of an input device.

Explain how OpenGL provides the functionality of each of the classed of logical inpr"rt

devices. (08 Marks)
b. Describe the logical input operation of picking in selection mode. (04 Marks)

c. What is Displaylist? Write OpenGL code-segment that generate a blue colored square using

l5cs62

(06 Marks)
(04 Marks)

(04 Marks)

of Bezier
(08 Marks)
(04 Marks)
(04 Marks)

l0 a. Explain Bezier spline curves with equations and demonstrate the appearance
curves for various selection of control points.

b. Whal is double buflering? How it is implemented in OpenGL.
c. Differentiate event mode with request mode.

***r<,k
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l{ote: Answer any FIVE full questions, choosittg OM lutl question ftlm each module.

SUM .START O

FIRST CLEAR X

, 
,,, LDA #0

-LDB #TOTAL
BASE TOTAL

LOOP ADD TABLE,X ..
TIX COLINT r ,.,,,,,ir,,

JLT LOOP
STA TOTAL

COLINT RESW I

TABLE RESW 2OOO

TOTAL RESW I

b. Explain in brief (D MS-DOS linker and (ii) CRAY MPP linker.

Module-3
5 a. List and explain the various phases of a compiler and show the output of each phase lbr the

expression a::b*c*25 (O8Marks)
b. Construct transition diagram for recognizing relational operators. Sketch the progran'r

segment to implement it, showing the lrst state and one in final state. (0tl Nlarks)

(08 Marks)

10
(08 Marks)

(08 Marks)

(08 Marks)

(08 Marks)
options u,ith suitable

(08 Marks)

(08 Marks)

DELTA: ALPHA + BETA * GAMMA -

2a.
b.

.. r1!l

i t[t"
ORut(

Write an algorithm lor Pass - I olan assembler.
Generate the object code for the following SIC/XE source program.

FIRST ltdqq' '"fil6,,.

',il:+' :

tu$S{

sfui$,-_.,u'

OR
a. Write the SIC/XE program for a bootstrap loader with suitable comments. Expiain in brief

the algorithm of a bootstrap loader. (08 Marks)

I ofl

Explain in detail SIC/XE machine architecture.

3a.
b.

END



6a.
b

c.

OR

Explain input buffering strategy used in lexical analysis phase.

Write the regular definition for unsigned number. also write the transition diagram.

1scs63

(06 Marks)

(06 Marks)
Construct the transition diagrams for a set of keywords like begin, end, if then and else and

identifiers and constants along with a minimum set of relational operators. (04 Marks)

Module-4
What is shift reduce parser? Explain the conflicts that may occur during shift reduce 

iiil,"?1,
Construct LALR parsing tables for the grammar shown below using LR(l) iterns.

S'--> S

7a.

b.

S-+Cc
C -+ cC d t08 Marks)

c. How left recursion can be eliminated from grammars'? Write down the simple arithmetic
expression grarnmar and rewrite the grammar after removing left recursion. (04 Marks)

OR
8 a. What is left lactoring? Rewrite the following grarnmar after "left lactored"

S --+ iEts iEtSeS I a
E -+ b (04 Marks)

b. Write a nole on the parser generator - yacc. (0,1 Marks)
c. Construct canonical LR(l) items for the augmented gramrnar

S'>S:
S-+Cc
C -+ cC d t08 Marks)

Module-5
9 a. Defrne synthesized and inheritea uttr]EffiI examples. (04 Marks)

b. Briefly explain the main issues in code generation. (08 Marks)
c. Explain in brief dead code elimination. (04 Marks)

OR
10 a. Construct DAG for the expression

a*b '* (a + b) * c * d (O4Marks)
b. Give SDD of a simple calcu.lator. (04 Marks)
c. Write a note on common sub expression. (04 Marks;
d. What are the steps involved rn optimization of basic blocks. Explain any 2 steps in brief.

(0,1 Marks)

>Fr<*{<*
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1a.

programmlng"'r,,
with CPU,rburst time (in ms).

Process Anivaltime Bunt time
P1 0 6

P2 :1. 
7 3

P3 2 I
p$::;1: ) 4

tttttttttt \

Sixth Semester B.E. Degree Examination, Dec.20l8 lJan.20l9
Operating Systems

15CS64

(08 N{arks)

(08 Marks)

(04 Marks)
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Note: Answer any FIVE full questions, choosing
ONE full question from each module.

Module-1

2a.
b.

a. Distinguish between the following tenns :

i) Multiprogramming and multitasking
ii) Multiprocessor systelxs and clustered systems. (0,1 Marks)

b. Analyze modular kernel approach with layered approach with a neat sketch. (06 Nlarks)

c. List and explain the services provided by OS for the user and efficient operation of system.
(06 Marks)

OR

Illustrate u,ith a neat sketch, the process states and process control block.
Discuss the rnethods to implement message passing IPC in detail.

Cornpute the waiting time and average turnaround tirne for the above process using FCFS,

SRT and RR (time quantum:2ms) scheduling algoritl-rrn. (12 Nlarks)

OR
Illustrate with examples the Peterson's solution
the mutuai exclusion propefiy is preserved.

for critical section problem and prove that
(08 Marks)
(08 Marks)b. Show how semaphore provides solution to reader writers problem.

1 of2

\

3a.
b.



IVIodule-3

Define deadlock. Write short notes on 4 necessary conditions that arise deacllocks. (06 N{arks)

Assume that there are 5 processes PO through P4 and zl types of resources. At time To we
have the following state :

Apply Banker's algorithm to answer the following :

i) What is the content of need matrix?
ii) ls the system in a safe state?
iii) If a reqr.rest from a process P1(0, 4, 2, 0) arives, can it be granted?

15CS64

5a.
b.

6 a. Write short notes on :

i) Extemal and intemal fiagmentation
ii) Dynarnic loading and linking. (0,IMarks)

b. Analyze the problem in sirnple paging technique and show how TLB is used to solve the
problem. (08 N,Iarks)

c. Given the rnemory paftitions of 200k,700k 500k,300k, 100k.,100k. Applr" first frt and best
fit to place 315k,421k,250k, 550k. (04 Marks)

Module-4

7 a. Forthefollowingpagereferencestring l,2,3,4,7,2,5,1,2,3.4,5.Calculatethepage
faults using FIFO and LRU for memory with 3 and 4 fi'anies. (08 N,Iarks)

b. Explain demand paging in detail. (08 Marks)

OR
8 a. What do you mean by free space list? With suitabie example. explain any 3 rnethods of fiee

space list implementation. (08 Nlarks)
b. Write short notes on linked and indexed allocation nrethod with a neat diagram. (0S NIarks)

oR:,..."'"

OR

(10 Marks)

(08 Marks)
(08 Marks)

Module-5

a. Given the lbllowing sequences 95, 180, 34, ll9, 11,123.62,64 with the head initially at
track 50 and ending attrack 199. What is the totaldisk traveled by the disk arm to satis{1,,the
request using FCFS, SSTF, LOOK and CLOOK algorithm. (12 Nrarks)

b" Write short notes on access matrix and its implementations. (04 Nlarks)

a. Explain the components of Linux system with a neat diagram.
b. Describe briefly on Linux Kemel modules.

*****
2 of2

Process
Allocation Max Available

A B C D B C D A B g'.,.111:D

Po 0 0 I 2 0 0 1 2 1 5 ,ro

Pr 1 0 0-: ..,0 1 7 5 0

Pz 1 3 4 2 J 5 6

P: 0 6""i, ,,. ,-' 2 0 6 5 2

Pa 0 .1,1 4 0 6 5 6

to answer the followins :

10

A
2

5

0
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3 a. Explain all three input modes with relevant figures. (09 Marks)
b. Describe the importance of display lists. Explain the OpenGL functions used to define and

execute a display list with a suitable example. (07 Marks)
c. Discuss the functionality ol- Display Callback tglutDispalyFunc( )) and Idle Callback

(glutpostRedisplay( )). (0,1 Marks)

4 a. List and explain different Frames in OpenGL. (06 Marks)
b. Explain how to dcfinc Vertex Arrays and color Arrays to store vertcx and color valrres.

(07 NIarks)

5 a. Describe Translation and scalin$dperations in , homogeneous coordinate system with
relevant Translation and scaling trinsformation matrices. (08 Marks)

b. Write the OpenGL program modules to define a color cube and spin it around arbitrary axes

using mouse buttons. (10 Marks)
c. What are the advantages and Quaternion's? (02 Marks)

a. What is the use of set_view_ reference_ point ( ). set vreir' 11lane,nonna1 ( ) and gll-ooL{t
( ) functions in setting the camera view? (06 Marks)

b. Describe two tlpes of simple projection methods. (12 Marks)
c. Explain glortho ( ) function with syntax. t02 Marks)

8 a. Explain Cohen - Sutherland's line ciipping algorithm. (08 Nlarks)
b. Describe Bresenham's line drawing algorithm. (08 Marks)

c. What is Hidden surface Rernoval'J Describe scanline algorithm. (04 Nlarks)

7 a. Explain 3 types of light-material interactions with figures. (06 Marks)
b. Describe point sources and spotlight sources with figures (06 N{arks)

c. Describe Phong Lighting Model. (08 Marks)

: : :::''E--

Note: Answer FIVE futl questions, selecting
at least TWO #l*gfs'fions from each part,

PART - A
7 a. Briefly explain the applications of computer graphics. (08 Marks)

b. With a neat diagram. explain the working olCRT. (06 Marks)
c. Describe the graphics geometric pipeline Architecture with a figure. (06 Marks)

2 a. List and explain different polygon types in OpenGL. (06 Marks)
b. Explain stroke text and Raster text with suitable figures and mention how size of the text can

be changed in each forrn oftexts. (06 }Iarks)
c. Explain Indexed color Model with suitable figure. (08 Marks)

c. Explain Af{lne transformations. (07 Marks)

***>kx
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Define operations research. Explain tlie phases of operations research. (07 Marks)
A firm manufactures two tlpes of products A and B and sells them at a profit of Rs.2 on
type A and Rs.3 on t)?e B. Each product is processed on two machines G and H. Type A
requires one minute of processing time on G and two minutcs of on H. Type B requires one
minute of processing time on G and onc minute on H. The machine G is available for not
more than 6 hours 40 minutes while H is available fcjr l0 hours during any working day.
How many items of IVp. a and Type B should be produced so thai the total p.oRt it

c. Using Graphical method solve the following :

Maximize Z: 5x1 + 4x2

Subject to .6xr + 4x2<24
xr*2x;<6

*-) * -*, +x,i I .{q,i"\ x?r 
d 
qry} 

"rue,*&" _xr*xz(l 
d"*_, &""8xz<2 &' _ eY

and x1, x2 Z 0. -. 'd 6ehl & (04 Marks
'.. ,'., l, -'

.,, . oR
2 a. Old hens can be bought'at Rs.2 each and young ones at Rs. 5 each. The old hens lay 3 eggs

per week and the young ones lay 5 eggi per wcek, each egg being worth 30 paise. A hen
(young or old) costs Rs.l per rveek to feed. You have only Rs.80 to spend for buying hens.
How many ofl each kind should you buy to give a profit of more than Rs.6 per week
assuming that you cannot house more than 20 hens? Formulate the problem as an LPP.assuming that you cannot house more than 20 hens? Foimulate the problem as an LPP.

:; r::. (06 Marks)
Using efaphical method sotve.ff6Lpp : i,,.r',,,.,,.ical method solve the LPP :

: 20x1 * l QX, -1,,. i:" 'i'.
' 1, :: ..:il'

Xr -F 2x2'<40Subject to xr -F lx7'4'4,0 t :,

. ,.;.,,,, 3x1 + izE'30 ,, 
'''t.,

..:*,, ': 4x1 1:l'.,3ar 5 66r:: and xi,'iz > 0. ':and *i,.x, > 0. (06 Marks)
Write the ineaqing'of following terms with respect to a LPP :

i) Feasible solution ii) Infeasible solution iii) Optimal solution iv) Unsounded solution.
',,;t,. (04 Marks)

Module-2
Explain the steps involVed,,in setting up of a Simplex method. (0S Marks)
Solve the following LfP by using Big - M method
Maximize Z: 4xt * 5xz - 3x3 + 59
Subject to ,.,*.#,' x2-l x3: 10

'''4'- xz > I
2x1+3Yr+ x3<40

and Xl, X2, x3 2 0.
,,ll:,:,,,:'r:.,:,::.1' 1Of3

maximum? Formulate this problern as LPP. (05 Marks)

(08 Marks)

\

la.
b.

15CS6s3

Max. Marks: 80

3a.
b.

ffiffiffiffiffi



OR
.i,

Using Simplex method, solve the following LPP
Maximize Z: 4x1+ 3x: + 6x:
Subject to 2x1 + 3a. +2\ < 44A

4\+3\<470
2x1+5x2<430

and Xl, X2, xt > 0. 
l...,.....,''' ':r.,.1

Define basic solution and obtain all the''basic solutions to the

equations, . ,.
Maximize z: xt * 3x2 + 31, ,.,.,.''" r. .::

3xl + 4x2 + x:.=.12 ,

Also classify the solutions inJo

D Basic Feasible Solutioq,
ii) Non-Degenerate'BasiiFeasible Solution';';:';'':"
iii) Optimal Basic Feasible Solution.

4a.

l5cs653

(08 Marks)

system of linear

(04 Marks)

(04 Marks)

(08 Marks)

(08 Marks)

(08 l\t{arks)

fo.llowingb.

Minimize Z:2xt + 2x2 + 4\ 
_

Subject to 2x1 * 3x2 +5.4 2 22x1* 3x2 +,5.x3 ) I
3x1 + xz + 7it a3

x1 * 4x2 *.6x3 ( J

qffi'
{&*

v
s

and xt,xz,Ti;zu
ii) Minimize Z : Zxz+q8xr*

subject to 3xr +* xt> tZ
Zf.lJ " x2* 64 < 6

, fXi..J x2:. 34: 4.

uffiffrfr, xz, xr z o.

f:*

2 of3

r,.0rt &{anhs)

{

method to
&.dXr'qB'

.&VJ&* .4 v{ ^'&d&rr&dt \&.-4e%
;*-is&

.i
*,!rr. 

"

and X1, X2, Xr

Explain the following :

i) The essenid:df duali



Module-4
7 a. Find the initial basic feasible solution to the foltowing

15CS653

ation problem using VAM.

(08 N{arks)

(08 Marks)

ies. The following table gives
'ermine the optimum solution to

1

b.
3 3 'i4':5

Find the optimal solution to the following assignment problem.

tt,.' 
., 

' Jobs

8a.
b.

OR
Write the procedure,rof Hungarian method.
There are 3 factories A, B and C. Supply.goods to 4 dealers b,, Dz, O, 

"rdt'11:"tntlproduction capacities of these factories are'1000, 700, 900 respectively. The requirement
from this dealers are 900, 800, 500 and 400 per month respectively. The per unit returns

:.:' D
af)
Bl3' nl n\-1.+

1000

700

I
J

6

7

*@
"&iMq"
I

9a.
b.

Write
Using
the v.d

'l,--,.. Player B
2-24

Player 
^. 1' ; ';

i) Mixed strategy

(08 Marks)

ii) Two person -
(08 Marks)

dwwY6/

s

Player B
8s-79

Plaver A.J - -6 6 4-2
:1.*{<***

3 of3,W
"&hffi,

J+

11 t7 8 16. 20ft9 7 t2 .6'
l3 l6 15 1.2. 16

2t 24 17 28 26
t4 r9 ,;,,tr'2 ll l3

,&
*'! ke{

(08 Marks)

(10 Marks)
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2a.

b.

d S.m" B

3 a. Explain while and for loop write a program to generate Fibonacci series up to the given lirnit
by defiqiflgriigOxaCCl (n) tunction. " . (08 Marks)

b. Nleng(p jtf-e advantages of bontfnue statement.'i$rite a program to compute only even

numbijrs'sum within the gilen natural number using continue statement. (08 Marks)
.dl .*..xi"\., /*^-r" r"1, {':"J r^-."* I*F r'ro]

ii\ S \n ,O".-Rtr.*$\ $r$ .d "t " ;

a* s &u .qsfl
;oefine a string.ffigit can be travers-ed\hough using looping statement? Write a py'thon
program to dispftffiresence of giv,en srlbstring in main string. (08 Marks)

Sfi'-denne a string.
Y .-- - -r- at- .-"program to displffiresence of giv,en srlbstring in main string. (08 Marks)

b. How compugq(iofrdt fautt or com$r{1}tional errors are handled in python? Show it with anHow compuf0tJohat tault or com$Utatlonal errors are handled m plthon'/ Snow 1t wltn an

:I:T*::1lg}flp:glu*:o.iolY;1it lines beginning with vowels from FRoM.text file to
VOWEL .text file retaining bther lines. (08 Marks)

'1." '

S*,it Module-3
5 a. Describe any two list oii6arations and list methods. Write a python program to accept 'n'

numbers from uqer, find sum all even numbers and product of all odd numbers in entered

list. 
" {'{"; (08 Marks)

b. List merits of"$iUtionary over list. Write a python program to accept USN and marks

obtained, frr$ rnaximum, minimum and students USN who have scored in the range 100-85,

85-75,"7{S60 and below 60 marks separately.
*n 

*\d I of2
/':$5 \r..iiN,"

3

Explain the following :

D Skills necessary for a p{oEii"ammer

ii) Interactive mode .,"'\:L.{il
iil) Short circuit evaluaiid[,1ciT expressio n

iv) Modulus operatgg s'll' 
i\" (04 Marks)

Mention three types p{gtpm encountered in pphbn.Orograms. Explain the basic building
block of pythonwith\dt\iample python p.ogidtliXto display format number (F, : 22n + 1)

for a 'n' value prompfbd by the users. .rr (08 N{arks)

Describe pyhoq hn$uage support for ar!!fuetic operators. -Write. a py'thon programs to

calculate studepi\bsult based on 2 exam. 1 sporl event and 3 activities conducted in a

college wit! wpightage of the activity :2Ag/o and sporls :20% for 50 marks. (04 N{arks)

' '..t-,,11 ' t ''"'1" OR ,' "'l'' -:'
List and\ive slntax of all pyth$l$ilpported conditionai statements along with its usage wrth
an example program to check whether given nurnbel is,positive or nigStfve ot ,".o,0* 

Marks)
Differentiate between^afgum'ent and paramelep.rL[ustrat. tn" noriiiql€xecution of a py'thon
function with an example program to convert given Celsius to Fahrenieit temperature.

(08 Marks)
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b.
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Compare and contrast tuples with lists. Explainiifoe'iollowing operations in tuples

i) Sum of two tuples lil-.,*. 
'' 

aliiJ \\

ii) Slicing operators ,l-l *j."--:s
iiD Compression of two tuples tt,,,,.it ^''':illl*

Jiv) Assignments to variables. r,,llr,
Explain extracting data using reguhi,dxpressions. Imp!em"gn! 

Q PYthon program

lines having '@' sign betweeilChardbters in a read text file.'

15CS664

(08 Marks)
to find for
(08 Marks)

Module-4 i.':il: I lvluuur!-1 {,r..r,.

7 a. How class can be inqteilIi&a n pythonffirite*{-ffion program to express instances asHow class can be inqtqhfi&d in python? WritS-a-'i.ithon program to express instances as

return values to aefrj i$a class 
-RECTANGLfi{*yith 

members width, height, corner-x,

corner_y and mer&-eflfunction : to find centre, Aea and perirneter of a rectangle. (0l Marls]
- -'-'-- 

-J 
-' .r:,,

b. Explain init and str fibthod with an exampQ.rpython program. (08 Marks)
. '.,i:' s,i, ."i.

.\:,. , .OR
.,r,.. 

r,1r;,....:

8 a. Definepb..I"yiribrphism. Demonstraie p<i'lymorphism withilnction to furd histogram to counta. Definqpo.I"Vfnorphism. Demonstra,te-Tolymorphlsm wlth tunctlon Io rlno nIStogIaIrI tu uuuut

tfre Brii,ibeti of times each letters 
3,n"..piars 

in a word and,in._sentence. (08 Marks)

b. Wh;i'it5 pure function? Writdiiijfthon program ,g:$d duration of event if start and end

time is givin by defining class,,TIME *S*\*\ihr" ._ l":::,, 
(08 Marks)

.q$...:j Modulp,S"]."''5' - 
;.;".

9 a. Explain any 2 socket fuHttions. Explain su$iibrt"for parsing IITML using regular expression

ple progiam. +}\ ' 
.s 
($ (08 Marks)

h T)escrih" , *,-"ort'"'iif securitv mechani$fn"dmploved in Int"p-mdt application with support of

. ,ir::"i ' ".\
with an example prggram. "*'\ ' - ($ (08 Marks)

b. Describe u ..,ppo*'""b? security mechgqisrg'employed rn Iqfurndt application with support of
ApI usage wiff$r example progranr\ciSet four strings andlut them in "hidden'PY"t 

uarrg
s!

i-t';.:tr.. ir' ti$:tr'T
,lL:-.:r$lir

i *# i'\i*""l'"u' OR st*Y*'
--- . "$3gu'**;" '.:/ ,r --X--:^-.^ ^ -^l^ --^^^-+ :- v]\ltr +-^-

f security mechpqisrg"J*ptoy"a i, Id$.$b4 application with su

ample prograrrl'tci"Eet four strings andStrt them in "hidden'PY"

i'*\;$ i\,:.-"',*'. OR *t$y,

10 a. Writd'$Hbte on XML. Deq.igl'python program to rdirieve a node present in XML tree.
,& " (08 Marks)+s S.\ W.t s'"k"

U ,.Brief on structured Query language,.witlilsuitable pyhon program explain functions

;t involved in creatiori ffiatabase table in'python' (08 Marks)
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